Answers to Selected Exercises AA131

CHAPTER 11
Section 1 1.1
Check Point Exercises
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Exercise Set 11.1
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k =
64.0 652 66. -2 67.80 68.20  69. a. 9.9;Online ad spending averaged $9.9 billion per year from 2000 through 2006.
b. 12; overestimates by $2.1 billion ~ 70. a. 4.28; Spending for consumer drug ads averaged $4.28 billion per year from 2002 through 2006.
b. 4.25:This is a reasonable model. ~ 71. $8081.13  72.$16,084.37 81. 39800  82. 1,307,674,368,000  83. 8.109673361 E15
84. 6840 85. 24,804 88. a, = 2.5937; a1p0 = 2.7048; a1000 = 2.7169; @10000 = 2.7181; ayp 000 = 2.7183; As n gets larger, a, gets closer to e = 2.7183.
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As n gets larger, a, approaches 1. As n gets larger, a, approaches 0. As n gets larger, a, approaches 0.
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As n gets larger, a, approaches %

93, does not make sense 94. does not make sense 95. makes sense 96. does not make sense 97. false 98. true
99, false 100. false 101. 9,32,16,8,4 103. —5; —5; —5; —5; The difference between consecutive terms is always —5.

104. 4: 4: 4: 4; The difference between consecutive terms is always 4. 105. —45

Section | 1.2

Check Point Exercises
1. 100, 70,40, 10, —20, —50 2. 34 3.a.a,=07n+313 b. 39 4, 360 5. 2460 6. $740,300

Exercise Set 11.2

1. 200,220,240,260,280,300 2. 300,350,400,450,500,550 3. ~7,-3,1,5,9,13 4. -8,-3,2,7.12,17
5. 300,210, 120,30, —60, —150 6. 200, 140, 80,20, 40, =100 7. % 2, % 1.%,0 8. % % % 0, —%, —% 9. —9.-3,3,9,15,21
0. -7.-3.1,5.9.13 11 30,20,10,0,-10,-20  12. 50,30,10, ~10,~30,-50  13. 1.6,12,0,04,0, ~04

14, —17. 2,23, —26,-2.9,-32 15:233 16. 39 175252 18. 362 19. 955 20. 685 21. —142 22. 244

23. a,=4n—3;ay =71 24. a,=5n—3;a,, =97 25. a, = 11 — 4n;a = —69 26. a, = 11 — Sn; a,; = —89

27. a, =T + 2n;ay = 47 28. a,=3n+ 3;ay =63 29, a, = —16 — 4n; a,, = —96 30. a, = —65 — 5n; a = —165

31. a, =1+ 3n;ay = 61 32. a, = 5n + 1585 = 101 33. a, = 40 — 10n; a, = —160 34. a, = 36 — 12n;a, = —204

35. 1220 36. 3775 37. 4400 38. 6600 39. 5050 40. 10,100  41. 3660  42. 6480  43. 396 44. 504

45. 8+ 13+ 18 + --- + 88;816 46. 2 + 8 + 14 + --- + 116;1180 47.2—-1—-4— --- —85;-1245

48. 4 +2+0— - —74;-1400 49. 4 + 8 + 12 + --- + 400;20,200 50. —4 — 8 — 12 — --- — 200; —5100 SLT 52, 29
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